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Question Number : 1 Question Id : 321011501 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Bismuth Subcarbonate is a/an:

Options:

, w diuretic and electrolyte replenished

o  adsorbent and astringent

- % saline laxative

4 % antacid and laxative

Question Number : 1 Question Id : 321011501 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 2 Question Id : 321011502 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Phylloquinone is another name for:

Options:
1« Vitamin K

- % Vitamin E



%z % Vitamin D

4 % Vitamin A

Question Number : 2 Question Id : 321011502 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 3 Question Id : 321011503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
An amino acid considered as a lipotropic factor is:

Options:
1 « Methionine

- % Iryptophan

= % Histidine

4 % Serine

Question Number : 3 Question Id : 321011503 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 4 Question Id : 321011504 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a plant growth regulator?

Options:
1 % Anabasine

> « Gibberellin
z % Khellin

4 % Genticin

Question Number : 4 Question Id : 321011504 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 5 Question Id : 321011505 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Melanin is derived from which of the following amino acids?

Options:
1 % Histidine

o o Lyrosine

z % Valine



, w Iryptophan

Question Number : 5 Question Id : 321011505 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T AR s R T R sy g &

Options:

1. ® iEIE?IE!
o » TEHETS
= 4 ﬂ?ﬂﬁ'

4 % [ETEIehe

Question Number : 6 Question Id : 321011506 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The condensation of chromatin and shrinkage of the nucleus leading to cell death is termed as:

Options:
, = Karyorrhexis

o o Pyknosis

- u Karyolysis

4 = Autophagy

Question Number : 6 Question Id : 321011506 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 7 Question Id : 321011507 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The natural alkaloid used in the treatment of gout is:

Options:
1 % Cinchnine

> « Colchicine

- u Reserpine

4 % Emetine

Question Number : 7 Question Id : 321011507 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 8 Question Id : 321011508 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Standards for surgical dressings are given in:

Options:
1 % Schedule H
- % Schedule FF

- w Schedule F (III)



4 « Schedule F (II)

Question Number : 8 Question Id : 321011508 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 9 Question Id : 321011509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Classification of bacteria as heterotrophs is based on:
Options:

, % OXygen requisite

> % growth temperature

3 o ENErgy source

, % nutrition requisite

Question Number : 9 Question Id : 321011509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 10 Question Id : 321011510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Hydrogen peroxide assay is performed by:
Options:

1 % diazotisation titration

- % nonageous titration

% % mneutralisation titration

4 + redox titration

Question Number : 10 Question Id : 321011510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 11 Question Id : 321011511 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

When the anaesthetic 1s injected in the subarachnoid space. it is termed as:
Options:

, % epidural anaesthesia

- % surface anaesthesia

% % infiltration anaesthesia



4 « Spinal anaesthesia

Question Number : 11 Question Id : 321011511 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 12 Question Id : 321011512 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The salt used in the X-ray studies of the gastrointestinal tract is:

Options:

| « Barium Sulphate

> % Bismuth Subnitrate
= % Thorium Dioxide

4 % Tantalum Dioxide

Question Number : 12 Question Id : 321011512 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 13 Question Id : 321011513 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Chromones are isomeric with:
Options:

1 % indoles

> % quinolines

- u Dpyrimidines

4 « coumaring

Question Number : 13 Question Id : 321011513 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 14 Question Id : 321011514 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The phase in mitosis in which complimentary of 46 chromosomes is visible under a microscope is:
Options:

, w Telophase

> w Metaphase

5 % Anaphase



4 « Prophase

Question Number : 14 Question Id : 321011514 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 15 Question Id : 321011515 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is also called Milk of Magnesia?

Options:
, % Magnesium Chloride

-  Magnesium Hydroxide

5 % Magnesium Oxide

, = Magnesium Sulphate

Question Number : 15 Question Id : 321011515 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 16 Question Id : 321011516 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 16 Question Id : 321011516 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT a cell-derived mediator for inflammation?
Options:

1 % Vasoactive amines

> w Acidic lipids

- » Lymphokines

4 « Kinin

Question Number : 17 Question Id : 321011517 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Clinical obesity is a condition in which the BMI range is:
Options:

- _ F] 2
; % 25-30kg/m

, % 40-45 kg/m?

o)
5  30-40 kg/m



i A
4 % 45-50 kg/m*

Question Number : 17 Question Id : 321011517 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 18 Question Id : 321011518 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Valeranone is the active constituent present in:

Options:
1 % Cinchona

- « Jatamansi

- u Myrobalan

, » Kalmegh

Question Number : 18 Question Id : 321011518 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 19 Question Id : 321011519 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The price fixed by the Indian government for scheduled formulations, according to the provision of DPCO. is called:
Options:

| « the ceiling price

- u theretail price

- u the scheduled price

4 = the wholesale price

Question Number : 19 Question Id : 321011519 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 20 Question Id : 321011520 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A deficiency in the activity of sphingomyelinase enzyme leads to:

Options:
1 « Niemann—Pick disease

- % Jacob’s disease

=z % Krabbe’s disease



4 % Gaucher’s disease

Question Number : 20 Question Id : 321011520 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 21 Question Id : 321011521 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The channel involving retailers and wholesalers is:

Options:
, % the primary channel

> % the secondary channel

-  the typical channel

4 » themarketing channel

Question Number : 21 Question Id : 321011521 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 22 Question Id : 321011522 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a plasma Kinin?
Options:

1+ Kallidin

- % Serotonin
= % Histamine

4 % Rennin

Question Number : 22 Question Id : 321011522 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 23 Question Id : 321011523 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the presence of food. absorption of drugs such as ampicillin:

Options:
1 % increases
- % first reduces and then increases

z % first increases and then reduces

4 « reduces



Question Number : 23 Question Id : 321011523 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 24 Question Id : 321011524 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 24 Question Id : 321011524 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A drug that promotes diuresis by antagonising the action of aldosterone is:

Options:
1 % Furosemide

- % Bumetanide

3 o Spironolactone

4 % Acetazolamide



Question Number : 25 Question Id : 321011525 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The heteroatoms present in phenothiazine are:

Options:
, » Oxygen and Nitrogen

o + Sulphur and Nitrogen

- w Oxygen and Sulphur

, % Nitrogen and Nitrogen

Question Number : 25 Question Id : 321011525 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 26 Question Id : 321011526 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The procedure of removing ovaries is called:

Options:
, = salpingectomy

-  Oophorectomy

5 @ Vasectomy

4 = colostomy



Question Number : 26 Question Id : 321011526 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 27 Question Id : 321011527 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is an H2 receptor antagonist?

Options:
, » Cyclizing

- « Cimetidine

- % Propoxyphene

, = Loperamide

Question Number : 27 Question Id : 321011527 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 28 Question Id : 321011528 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Haemostatic forceps are also known as:
Options:

| « Aartery forceps

> u Sswab holding forceps

— Moynihan’s forceps

, » ordinary forceps

Question Number : 28 Question Id : 321011528 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 29 Question Id : 321011529 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Anaphylactic allergy falls under which of the following types of hypersensitivity?

Options:
1 o Typel

5 % Type Il

5 » Typelll

4 % Type IV

Question Number : 29 Question Id : 321011529 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 30 Question Id : 321011530 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Etoposide is a semisynthetic derivative of:
Options:

, % Dplant terpene

> % plant tannin

- » plant alkaloid

4 « Dlant glycoside

Question Number : 30 Question Id : 321011530 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 31 Question Id : 321011531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



A pharmacy professional should be:
Options:
, % Incapable of lateral thinking

- % Dotapproachable

% % unavailable

4 « Observant

Question Number : 31 Question Id : 321011531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Teh BIHET 99T F AT =T

Options:

% TR W@ H EEY

. % TAAAR A&

. HelH9elsd]
5" =

4 & EECErg

Question Number : 32 Question Id : 321011532 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Endothelium is the squamous epithelium associated with:

Options:
1 % heart

- u collecting ducts

o o lymph vessels

4 #% small intestine

Question Number : 32 Question Id : 321011532 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 33 Question Id : 321011533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Captopril is a/an:

Options:
1 + ACE inhibitor

- % MAO inhibitor
=z % HMG CoA reductase inhibitor

, = O-glucosidase inhibitor

Question Number : 33 Question Id : 321011533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 34 Question Id : 321011534 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is an ayurvedic preparation containing self-generated alcohol?

Options:



1.« Asava
- % Qutika

5 % Lehya

4 % Ghrita

Question Number : 34 Question Id : 321011534 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 35 Question Id : 321011535 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
mRNA is synthesised in the nucleus as:

Options:
{ % tmRNA

- % SnoRNA
= % SCRNA

4 v hnRNA

Question Number : 35 Question Id : 321011535 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

. % tmRNA



- # SnoRNA
z % ScRNA

4« hnRNA

Question Number : 36 Question Id : 321011536 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 36 Question Id : 321011536 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a macrolide antibiotic?
Options:

, « Erythromycin

- % Streptomycin

- u Neomycin

, » Kanamycin

Question Number : 37 Question Id : 321011537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The intake of a minimum of 4 to 10 drugs at the same time on a regular therapeutic basis is called:
Options:

, w drugoverdose



> w drugabuse

- « Polypharmacy

4, w drugoveruse

Question Number : 37 Question Id : 321011537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 38 Question Id : 321011538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Pilocarpine is an alkaloid containing:
Options:

, w Pyrazole

- « Imidazole
- % Oxazole

4 = Pymole

Question Number : 38 Question Id : 321011538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 39 Question Id : 321011539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Structured evaluation of a patient’s medication for improving health outcomes is termed as:

Options:
1 % medication error

- « medication review

- » hospital formulary

4, % Ppharmacovigilance

Question Number : 39 Question Id : 321011539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 40 Question Id : 321011540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The nutrient antioxidant present in berries is:
Options:

, w 0o-Lipoic acid



> % Catechic acid

-  Ellagic acid

4 % Aspartic acid

Question Number : 40 Question Id : 321011540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 41 Question Id : 321011541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a quinolone-containing urinary tract anti-infective agent?
Options:

1 #% Nalidixic acid

- % Cinoxacin
% % Enoxacin

4 « Ciprofloxacin

Question Number : 41 Question Id : 321011541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 42 Question Id : 321011542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following serves as one of the laboratories for producing oral polio vaccine?

Options:
| Central Research Institute, Kasauli

- u Central India Pharmacopoeia Laboratory, Ghaziabad

- % Department of Biochemical Engineering, ITT, New Delhi

4 « Pasteur Institute of India. Coonoor

Question Number : 42 Question Id : 321011542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 43 Question Id : 321011543 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The condition of weight loss and muscle atrophy in severe chronic illness is called:
Options:

, » Pyrexia



> % Rickettsiaea
z « Cachexia

, w Porphyria

Question Number : 43 Question Id : 321011543 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 44 Question Id : 321011544 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Noncompetitive enzyme inhibitor is:
Options:

, w Allopurinol

- u Carbidopa

- u Physostigmine

4 « Acetazolamide

Question Number : 44 Question Id : 321011544 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 45 Question Id : 321011545 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The price that equates market supply and market demand is called:

Options:

, w market restoring price

- » market depreciating price
-  market clearing price

, » market elastic price

Question Number : 45 Question Id : 321011545 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 46 Question Id : 321011546 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Myrrh contains:

Options:
i, PR



> % alkaloid
protein

glycoside

Question Number : 46 Question Id : 321011546 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 47 Question Id : 321011547 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The committee formed in hospital settings that is responsible for overall pharmaceutical care is termed by WHO as:

Options:
1 & DIC

> % DIF
s % PIC

i BTG

Question Number : 47 Question Id : 321011547 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 48 Question Id : 321011548 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The active metabolite of Imipramine is:
Options:

, % Nortriptyline

- % Amitriptyline

o o Desipramine

4 % Alloxanthin

Question Number : 48 Question Id : 321011548 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 49 Question Id : 321011549 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The protein—DNA complex in higher organisms is called:

Options:
1 % transferrin

> « chromatin



% % interferon

4, = dystrophin

Question Number : 49 Question Id : 321011549 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
3= Shal #H NEF-ETAT Hepol I Fgl ST g

Options:

1 . §+|E Ii[l
gjm

Question Number : 50 Question Id : 321011550 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who among the following is referred to as the Father of Indian Pharmacy?

Options:
1 % HG Khorana

> w RN Chopra

%z « ML Schroff

4, % Asima Chatterjee

Question Number : 50 Question Id : 321011550 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 51 Question Id : 321011551 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A naturally occurring sympatholytic is:

Options:
, w Strychnine

5 w Morphine

5  Reserpine

, w Quinine

Question Number : 51 Question Id : 321011551 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 52 Question Id : 321011552 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The percentage change in quantity caused by a 1% change in price is known as:
Options:

, % Inelasticity of demand

- % Cross-price elasticity



5 u Income elasticity of demand

4 « Drice elasticity of demand

Question Number : 52 Question Id : 321011552 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 53 Question Id : 321011553 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Schedule S refers to:

Options:

, w thestandards for patents and proprietary medicines

> « the standards for cosmetics
= % the standards for disinfectant fluids

, w thestandards biological and special products

Question Number : 53 Question Id : 321011553 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 54 Question Id : 321011554 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is an anti-thyroid drug?
Options:

1 « Methimazole

- u Levothyroxine

= % Tolazamide

, w Chlorpropamide

Question Number : 54 Question Id : 321011554 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 55 Question Id : 321011555 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The disease that is completely eradicated from India through systematised imununisation programme is:
Options:

, % diphtheria

o o Small pox



s w Whooping cough

4 % leprosy

Question Number : 55 Question Id : 321011555 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 56 Question Id : 321011556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wilms® tumour is also known as:
Options:

, = hepatoblastoma

- « Dephroblastoma

= % mneuroblastoma

4 % oxioblastoma

Question Number : 56 Question Id : 321011556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 57 Question Id : 321011557 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Kurchi is a/an:

Options:

, w saponin alkaloid

- % isoquinoline alkaloid

z % indole alkaloid

4 « steroidal alkaloid

Question Number : 57 Question Id : 321011557 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 58 Question Id : 321011558 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 58 Question Id : 321011558 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Conference Board is an organisation for compiling the index of:

Options:

, + leading indicators

- % macroeconomics indicators
- % market indicators

, = aggregate indicators

Question Number : 59 Question Id : 321011559 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The capacity of a drug to cause foetal abnormalities is termed as:

Options:

3 teratogenicity

- % mutagenicity
- % pathogenicity

, % carcinogenicity

Question Number : 59 Question Id : 321011559 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 60 Question Id : 321011560 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The adipose tissue in newborns is called:

Options:
1 « brown fat

o u Yyellow fat

% % white fat

4 % black fat

Question Number : 60 Question Id : 321011560 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 61 Question Id : 321011561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a nonapeptide hormone produced by the posterior pituitary gland?

Options:
1 % Prolactin

o o Vvasopressin



=z % Aldosterone

4 = Thyroxin

Question Number : 61 Question Id : 321011561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 62 Question Id : 321011562 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A quaternary ammonium compound that is used as detergent is:

Options:
1 « Ceramide

- % Savlon
% % Chlorhexidine

, w Chloroxylenol

Question Number : 62 Question Id : 321011562 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 63 Question Id : 321011563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a waste product of protein metabolism?

Options:
1 % Urea

5 « Ammonia
% % Creatinine

4 % Uric acid

Question Number : 63 Question Id : 321011563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 64 Question Id : 321011564 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Billings method is a method of:
Options:

1 % ventilation

o o+ family planning



5 w Waste disposal

4 % firstaid

Question Number : 64 Question Id : 321011564 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 65 Question Id : 321011565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The specific test for identifying imidazole rings in amino acids is:

Options:
, « Pauly’s test

> % DBiuret test
% % Millon’s test

4 % Folin’s test

Question Number : 65 Question Id : 321011565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 66 Question Id : 321011566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A sulphur-containing amino acid is:
Options:

1 % Ornithine

> w Asparagine

- » Alliin

4 % Glutamine

Question Number : 66 Question Id : 321011566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 67 Question Id : 321011567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The form for the issue of license to sell, stock, exhibit for sale or distribute drugs specified in Schedule X in retail is:

Options:
1 & 20F
5 % 20G

s % 21A



Question Number : 67 Question Id : 321011567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 68 Question Id : 321011568 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The study of arthropods of medicinal importance is termed as:
Options:

, + medical entomology

> % medical herpetology

- » medical herbology

, w medical ornithonym

Question Number : 68 Question Id : 321011568 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 69 Question Id : 321011569 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Trench fever is a:

Options:

1 % DBacterial disease

- % Viral disease
= % Protozoal disease

4 « Ricketssial disease

Question Number : 69 Question Id : 321011569 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 70 Question Id : 321011570 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Synovial cells in joints is an example of:
Options:

, w neutrophils

o o« macrophages

- % basophils



4 w lymphocytes

Question Number : 70 Question Id : 321011570 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 71 Question Id : 321011571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
An important site of foetal blood cell production is:
Options:

, % pons

o o Spleen

- % lymph

4, w thymus

Question Number : 71 Question Id : 321011571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 72 Question Id : 321011572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Treponema pallidum is the causative organism of:
Options:

|+ Syphilis

> u chlamydia
- % AIDS

, w gonorrhoea

Question Number : 72 Question Id : 321011572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 73 Question Id : 321011573 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Acid fastness in acid-fast staining is due to the abundance of;

Options:

| + mycolic acid

> % squalene

- u ergosterol



4 w peptidoglycan

Question Number : 73 Question Id : 321011573 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 74 Question Id : 321011574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Senna belongs to the family of:
Options:

| v Le guminosae

- % DBurseraceae
= % Rhamnaceae

4, % Scrophulariaceae

Question Number : 74 Question Id : 321011574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 75 Question Id : 321011575 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Nicotinic receptor is a:

Options:

, w G-protein-coupled receptor

5 of ligand-gated cation channel

- w nuclear receptor

4 % tyrosine kinase receptor

Question Number : 75 Question Id : 321011575 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 76 Question Id : 321011576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
An integral membrane glycoprotein of the human erythrocyte is:

Options:
1 % chitin

amylopectin

5 o glycophorin



4 w glycogen

Question Number : 76 Question Id : 321011576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 77 Question Id : 321011577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
An element having a vital role in the biosynthesis of thyroid hormone is:

Options:
1 % Zinc

- % Chlorine
- % DBromine

4 « lodine

Question Number : 77 Question Id : 321011577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 78 Question Id : 321011578 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Glucocorticoids are involved in:
Options:

1 % Sodium metabolism

- % Potassium metabolism
= « fat metabolism

4 % fluid balance

Question Number : 78 Question Id : 321011578 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 79 Question Id : 321011579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Keller—Killiani test is specific for:

Options:
1 % Cascaroside
- % Prunasin

% % Linamarin

4  Digitoxose



Question Number : 79 Question Id : 321011579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 80 Question Id : 321011580 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Spherical shaped bacteria are termed as:

Options:
1 % bacilli

> o coccl

- % spirochaetes

4 % vibrios

Question Number : 80 Question Id : 321011580 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 81 Question Id : 321011581 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Adverse drug reaction does NOT occur due to:

Options:
| % hypersensitivity

o o drug change
% % overdose

4 w allergy

Question Number : 81 Question Id : 321011581 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 82 Question Id : 321011582 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Penalty for non-disclosure of the name of the manufacturer is:

Options:
. % 10,000

- w 2,000

2« T1.000

4 % T500

Question Number : 82 Question Id : 321011582 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
[
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Options:

. » ¥ 10,000

, % ¥ 2,000
- ¥ 1,000

. = T 500

Question Number : 83 Question Id : 321011583 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Respiratory distress syndrome in premature infants is caused by the absence of:

Options:
, w Cephaline

> « Lecithin

- » Phosphatidyl serine

4 # Myoinositol

Question Number : 83 Question Id : 321011583 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 84 Question Id : 321011584 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Which of the following is an important document of the hospital containing a collective list of drugs?
Options:
, w Drug information bulletin

- u Hospital register

- % Pharmacopoeia

4 + Hospital formulary

Question Number : 84 Question Id : 321011584 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 85 Question Id : 321011585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 85 Question Id : 321011585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Which of the following is a superficial vein of the cardiovascular system?
Options:
1 +« DBasilica vein

- u Axillary vein
%z % Subclavian vein

4 % Palmar vein

Question Number : 86 Question Id : 321011586 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
An increase in the size of an organ or a tissue that is not associated with cancer is termed as:

Options:
, w neoplasia
o o Dyperplasia

- u metaplasia

4 % displacia

Question Number : 86 Question Id : 321011586 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 87 Question Id : 321011587 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Pharmaceutical Price Regulation Scheme is exercised to have:



Options:
, w direct control over branded price

- o indirect control over branded price

- % direct control over generic price

4, = indirect control over generic price

Question Number : 87 Question Id : 321011587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 88 Question Id : 321011588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

aoraa, 3, T, INg = 3T FaRa s & For & Far JAT E
Options:
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Question Number : 88 Question Id : 321011588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The art of planning, organising, staffing, motivating and controlling is called:
Options:
, » Marketing

o u Advertising skills

- » Manufacturing

4 Management

Question Number : 89 Question Id : 321011589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Thomsen’s disease is associated with:
Options:

| « Muscular dystrophy

- % mMyasthenia gravis

5 w myelosis

4 = myopathy

Question Number : 89 Question Id : 321011589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 90 Question Id : 321011590 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Which of the following hormones inhibits the secretion of insulin. glucagon and growth hormone?
Options:
1 +« Somatostatin

- % Thyroxin

= % Melatonin

4 % Serotonin

Question Number : 90 Question Id : 321011590 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 91 Question Id : 321011591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Both snail and crab are vectors of which of the following diseases?
Options:

1 % Schistosomiasis

5 of Paragonimiasis

- » Encephalitis

4 % Simensis

Question Number : 91 Question Id : 321011591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:



Question Number : 92 Question Id : 321011592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Trachoma is an infectious disease of the:
Options:

, % lungs

5 % ears

5 o EYES

4 % liver

Question Number : 92 Question Id : 321011592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 93 Question Id : 321011593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Ancyclostomata duodenal is a:
Options:

1 « nematode



> % amoeba

5 % protozoan

4 w Tungus

Question Number : 93 Question Id : 321011593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 94 Question Id : 321011594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following can be marketed under generic name?
Options:

| « Analgin

> % Glutethimide

- % DBarbital

4 % Meprobamate

Question Number : 94 Question Id : 321011594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 95 Question Id : 321011595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Marasmus is associated with:
Options:

, w fatand protein deficiency

- » fatand carbohydrate deficiency

-  Drotein and carbohydrate deficiency

4, = only protein deficiency

Question Number : 95 Question Id : 321011595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 96 Question Id : 321011596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Deglutition is a term related to:
Options:

, w chuming



o o Swallowing
5 % Chewing

4 w biting

Question Number : 96 Question Id : 321011596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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5 % AT

4 % SIS

Question Number : 97 Question Id : 321011597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The vitamin involved in the biosynthesis of collagen is:

Options:
, w Tocopherol

- « Ascorbic acid
= % Biotin

4 % Pantothenic acid

Question Number : 97 Question Id : 321011597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. - E.':Elil S{TEI



, v THifEE ofts
g@ﬁ'l'-'ﬂﬁ?

4 # Ueaidfas ofds

Question Number : 98 Question Id : 321011598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In Alzheimer’s disease which peptide level is elevated?
Options:

, w 0O-haemoglobin

- % O-aminoadipate

-  Pp-amyloid

, % Pp-alanine

Question Number : 98 Question Id : 321011598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 99 Question Id : 321011599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The ortho-toluidine test is performed for assessing the effectiveness of:
Options:

1 « chlorination



5 w oOrganic purification

5 w sewage treatment

, = Wwater purification

Question Number : 99 Question Id : 321011599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 100 Question 1d : 321011600 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 100 Question 1d : 321011600 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Indian aconite is a commeon name for:
Options:

, % Aconitum brachypodum



> % Aconitum carmichaelii
z « Aconitum chasmanthum

4 % Aconitum kusnezoffii

General Aptitude

Section Id : 32101110
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 25
Number of Questionsto be attempted: 25
Section Marks: 25
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 32101118
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 321011601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who is the mistier of Health and Family Welfare in government of India?

Options:
, % Sushma Swaraj

> % Nitin Gadkari
z « J. P.Nadda

4 % Uma Bharti

Question Number : 101 Question 1d : 321011601 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 102 Question Id : 321011602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who wrote Unhappy India?

Options:
, « LalaLajpat Rai

- » Mulk Raj Anand

= % Subhash Chandra Bose

4 R Bal Gangadhar Tilak

Question Number : 102 Question Id : 321011602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Options:
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- gawaam

4 % 6T TEMER oo

Question Number : 103 Question Id : 321011603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What’s the capital of Lakshadweep?
Options:

, % Daman and Diu



o % Minicoy

% « Kavaratti

, w Puducherry

Question Number : 103 Question Id : 321011603 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 104 Question 1d : 321011604 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The First Opium War was fought between?
Options:

i o China and the British Empire

- % India and the British Empire
% % China and Vietnam

4 % China and France

Question Number : 104 Question Id : 321011604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 105 Question Id : 321011605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Name the state bird of Maharashtra?
Options:

| % House Sparrow

-  Green pigeon

- » Hill Myna

4 % Indian Roller

Question Number : 105 Question Id : 321011605 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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4w HET e
Sub-Section Number: 2
Sub-Section 1d: 32101119
Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 321011606 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Three of the alternatives follow a certain relation. Find the instrument which does not belong to the group?
Options:
1 % Guitar

- % Violin

5  Conga

4 % Cello

Question Number : 106 Question Id : 321011606 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 107 Question Id : 321011607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Prathik along with his three Kids were watching cricket match on television. There was an advertisement for remote
controlled toy car. The phone number flashes on the screen briefly and they all try to remember the 10-digit phone
number. By the time Prathik grabs a pen and paper, each of them recollects a different number

1: All of them agree that the first three numbers are 989.

rJ

: Three kids agree that the fourth number is 6.

L% ]

: Three agree that the fifth sixth numbers are 28.
4: Three agree that the seventh eighth numbers are 38; all are agree that the last two digits of 10digt number is also 42.

Which of the numbers is most likely the telephone number of the advertisement?
Options:

1 ® 9892863842

o o 9896283842

5 % 9892838426



4 % 9869382842

Question Number : 107 Question Id : 321011607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

| % 9892863842

- v 9896283842
. = 9892838426

., = 9869382842

Question Number : 108 Question Id : 321011608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

During morning walk in a garden. Pointing to Rajesh Padma said “he is the brother of my uncle’s daughter”. Then how
is Rajesh related to Padma?

Options:
1 % Uncle
» « Cousin

= % Brother

4 % Grand father

Question Number : 108 Question Id : 321011608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 109 Question Id : 321011609 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Study the following figures carefully and identify the similar figure among the alternatives, which having analogues
relation to the given set of figures

o000 0
) o

o“a

e.;/
kS ®\ﬂ

Question Number : 109 Question Id : 321011609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 110 Question Id : 321011610 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Read the data given carefully and answer the question
The following Venn diagram shows information about number of officers who speak three different languages in the
army camp at XYX

Punjabi Bengali

A&

Hindi

How many officers speak only two languages in the camp office.?

Options:
1. ® 32

> o 34

Tz B 36



4 ® 38

Question Number : 110 Question Id : 321011610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

2 v 34

Question Number : 111 Question Id : 321011611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If the transparent paper is folded at the dotted line what would be the result of the folding.
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Options:
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Question Number : 111 Question Id : 321011611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 112 Question Id : 321011612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What would be the next number in the series.

45 12- 36" IDE‘ 7

Options:
1, * 325



4 % 344

Question Number : 112 Question Id : 321011612 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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4, 12,°36, 1087
Options:

, % 325
, % 314
2 324

. & 344

Question Number : 113 Question Id : 321011613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Seven children takes part in a caroms games contest. Each one has to play with every other one. How many games must
they play?
Options:
i ® 28

I-J
-

2

L
b5
[
Lh

o=
§
[
| ]

Question Number : 113 Question Id : 321011613 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 114 Question Id : 321011614 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the number pair from the given alternatives which holds the analogous relation as the given.

144 : 13
Options:

1 % 169:12
oW 324 : 17
= % 289:16
i W#7225:16

Question Number : 114 Question Id : 321011614 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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144 : 137
Options:

, % 169 : 12
o % 324 : 17
- % 289 : 16
A 4 225 : 16

Question Number : 115 Question Id : 321011615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If L stands for — . M stands for — N stands for =, P stands for +,
then what would be the result of the following expression.

‘8N3L18P6M6’ ?



Options:
1 ® 16

Question Number : 115 Question Id : 321011615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

IZ L, + # Fwlg s=ar & M, - & BwRa =ar &, N, x # BFhg &=xa ¢ ¥R P, « # =sfg
FaT ¢, O AT s = afons Fr gem?
8N3L18P6M6

Options:

4. o 21

Sub-Section Number: 3
Sub-Section I1d: 32101120
Question Shuffling Allowed : Yes

Question Number : 116 Question Id : 321011616 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A number X is short of Y by 20%. Then what percent is Y in excess of X?

Options:
1 % 20%

> % 50/3%



Question Number : 116 Question Id : 321011616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

I &I X, Y W 20% FH g, a1 Y, X ¥ fhaar gfdea #fes g7
Options:

% 20%
.« 50/3%
2 % 12.5%

g W 25%

Question Number : 117 Question Id : 321011617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
1
If a’b® +

e 51. then the value of ab — 2 s
aZh? ab

Options:
1 6

o o 7

Question Number : 117 Question Id : 321011617 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
i i
T a’bh? + 51, @ ab— — 3T A ¢

aZh? ab

Options:

1_-;-‘35

Question Number : 118 Question Id : 321011618 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The sides of two similar triangles are in the ratio 9 : 16. Then the areas of these triangles are in the ratio.

Options:
| ® 256:81

s o 81:256

4 % 9:16

Question Number : 118 Question Id : 321011618 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ar FATT TN HT HIT 9 : 16 F IS H g 57 IS & &G BT AT FAT Y

Options:

1 & 256 : 81
> % 3:4

z « 81 : 256
4 % 9:16

Question Number : 119 Question Id : 321011619 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The area of a rectangular field is 144 m? . If the length had been 6 m more, and the area has also been 54 m? more, then
the original length of the field is:

Options:
i % 12m

o R 13 m
= % 14m

4 % 16m

Question Number : 119 Question Id : 321011619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tsh HTOATRT BT &1 9% 144 m? g1 IfE sushr o926 He 3179 idr o &% off 54 m? 3o
& ST, & ¥ #r areafae wers g

Options:



Question Number : 120 Question Id : 321011620 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Two right circular cylinders of equal volumes have their heights in the ratio 1 : 2. Then the ratio of radii is:

Options:
1. ® b ok ;
o W 2

4_5&1:4

Question Number : 120 Question Id : 321011620 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT HOG el & dageaid fHoisd @ Fa13 & Haid 1 : 2 g1 ar 3 et #1 3999 ¢
Options:

1@321

Question Number : 121 Question Id : 321011621 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The perimeters of two squares are 48 cm and 36 cm. Then the perimeter of a third square whose area is equal to the
difference of the areas of the two squares is given by:

Options:

1 ® 1l6cm



> % 24cm

2 & 124/7 cm

4 ® 28cm

Question Number : 121 Question Id : 321011621 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

I gr 991 &7 9HET 48 cm 3T 36 cm &, dF T J@L F97 FT oA"Y A9 fiew, TEer 56 et
eIt & STIFAr F HW F TET T

Options:

; # 16 cm

> % 24 cm
s« 124/7em

4 % 28 cm

Question Number : 122 Question Id : 321011622 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A right pyramid 10 cm high has a square base of which the diagonal is 10 cm. The whole surface area is:

Options:
1 % 220 cm?

5 % 210 cm?
= # 205 cm?

4 « 200 cm?

Question Number : 122 Question Id : 321011622 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

10 3 59 v FFEHOTE BRIAE & 3R S9eR g, e Bwo 10 @ 7§ 8w e
I

Options:

1 & 220 cm?



> & 210 cm?
=z u 205 cm?

4« 200 cm?

Question Number : 123 Question Id : 321011623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
£ (1+ sin 6)1—sm 8)
{(1+cos®)¥1—cosB)

If cot® =g . then the value o is equal to

Options:
20

10

25
3¢ 36

15
4 = 18

Question Number : 123 Question 1d : 321011623 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

5 (1+sin @) {1—=in g
I ot f = S, g et s
6 (1+cosd){1—cosd)

FT AT &% TET 2

Options:
20

10

25

15
g4 = 18



Question Number : 124 Question 1d : 321011624 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T ZlaT F FUR H 4 m HR 16 m FT g W 57 iy @l W A g o Rgdt d e F M F
3eAde HIUT UF gL & H ¢l df e H IS g

Options:

1 % 6m

E.J'Sm

4&39”1

Question Number : 124 Question Id : 321011624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The angles of elevation of the top of a tower from two points at a distance 4 m and 16 m from the base of the tower and
in the same straight line with it are complementary. Then the height of the tower is:

Options:
1, ® 6m

> o 81
= % 12m

g ® Om

Question Number : 125 Question Id : 321011625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Histogram can be used directly for:

Options:

, = secondary data

> « continuous data
= % discrete data

, % primary data



Question Number : 125 Question Id : 321011625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e #1 3uger @) ¥ fore o = gear B

Options:

| % SJITIE ETaT

> v TAT T



